Umucf‘s,b of Joan
Wtﬁé’ncg Deﬂf'
Seludons 1o Selec fd Vwb[engb’é\
Chp/ﬁf 4 /é?&h(&lf 7 @Ql{/‘lﬁh

Praf Hm%maud T@A@dé

| - sl distine _ 235 355k
ZJ av*ﬁf&tjé’ Spee S mw '“Q”f?g"g ’EM’

”] Nojrfi f’%e Car and M@ +ﬁif//3 Ar€ Mavu&j
int velocipres = A0 for each.

at cons

f 0\-} Js O
& Lrck: ol - 210 =104 |t £5© he fruck WaL
f jeo0 qt xz 210 m
9?: = 95T
OCJ(T :'725/50-5 g ?5-{: C i i
he tack > %% =%

Lohen Hhe car” coc he

& BEE = 210 +71°

jO00

;,{;:OwOIOS}’) c %8 8

£ = 201 £ 210
[OOC



WINUT = 0\5%@_¢ 26 mls

Dt/m_.mj the f\eaaf)m brme (0 453) que ERC
moves” at constant velocity Gpd  moves &
disfanie DX, = oy 264 1056 " -
'Ti/le car moved Al addf/x")bnéj dofencz

durmg dece€ ez 1on -
1 L

('} Q:wgmfjm =5 fu; 4
DX, = _@-—Tcz.é-_%ﬁ': 11-1b m
2 (-5
) = IO-Sé—Hlé-fé Z124-F m

. :b’h?’h! S’IL?)P‘Omj distanle —
Na:z-6 > b= oo (264) = 5%-1m

266)
> At | strppng disten & = 5541056 =687



3i) U7 = 18 mk O(—m--'ééSrw/s’L
fop}ﬁ c’mm’f Cgmfd befre & Vp@;\j )‘*g e brec ey

Cdun@ Hie reacon ﬁm_e)

DX, :
;JPL&CZWML wb,'/z O‘W&J'j }Qrz’ab UVM)/
Car &ﬁpJ D
’l{a 7/: - oo B¢
o-(1g) = 2% t5) DZ
;oo Do = 4 28 mi et 16117‘
@ 1he
Qom i\\L/ 2 é@ mM
{ . = -
DL-JP 5?@ ’ | j
CJ[ lﬁ 50.8m
mwgg (Zﬁ” L. 26 m dun S
| ”ﬂ
resctin fme aféyb'”/ He bew ks
e , She sz’;”

She will | not spp o )
pist e Ty ife Jight L i
% cor  will be a1 X = =0 .45 M

”‘lf],@]l J S 50.65— 20 = 30.65 M Pg

Fhe L e | UM

stop/
st é=3+q)(l¢3’8

g



36j U,Mﬁ@ EVIH S SalleUS

wake o skech of Hie sifuativn ali £-0
%Q?H:’-rmfs =B mS Fi”
% S ' Tne
i M
5 97  x-04iS

o
Wirk e ec{wq/yan of motion 1r each:
For May: S 7/,?'\"1: t+ 4 a 1"

F
Moo - ttHat > xPptlat” ~Q

bor Sa?b: CZ;_:Z;S’L‘WS{ 7":’5635,%9#
D.ﬁcs-fg-: g4 —0.2t"
S 1.
2 & £ 4 St-08t — (2]

Crossmng Me line Sr’de~by5;de;—> XM ::13:22 at
e same 105 fant of +ime t - We e @) to fnd L

22 ’Sfib‘o”cfo,z?fL =5 o4t st 4= O
fo h 2 U oS (anaf‘ﬁ + = 2 s 4 See be/aw)
5()[954’;"‘}(/\4{’ Fpr + In @’f@ find O =

e i %)+ b (e8) D AF OF mlls

=> Maw has o accelerzle ot oF

Note canoWer <sluton r £ = 21s

This dme meaus Sally will Le @1 oLeZd W
hile moving T2 e leL + slder revaoiny her—

d rec on wothon . But Surely she will STz
(/\{hwz <she caches e ﬁn?\?}) hne . So d’}i/ff

wlE




1

o speede
3y v @ e

5
-~ 23.5 mls- (Constant ) -

UP - 125 km,
vif > a5kl = 26-mlS
Aesume £=0 when the . policeme” Stz 4
1D accg(e{;/e ond assume }‘ﬁﬁ 'aa)FCerVLﬁr\
t>  be at TVD;e mUM.a'f this moment (£=0)
fﬁiﬁo) m’ f:—”o %e 5/ﬂ€ec/éf 5 0\}1@40’ ojf
policemen by (7A-5-264)x 15 i
1,5..?:.26oq 3
iy .g: 7.5 m S
O n:.l
]%F Pd’f@zmﬂﬂ Z):ZP .,._QC,P ez ﬂ‘p.t +f afl
P I ] ’{
. dﬁ% Co 264t 4Ot
r spee ch = :
¢ = Wl = 135t  (nefe a=o ﬁ")‘f%@ﬁﬁ//’
at //%e moment a% mef%a/gmj = \jug-Jr To
D(P ) Q(S C(’wck Cafa(/f
2 ogf andl %
ot £:9.46 5

2Lt 4 13t = 1] Lq7.St
fadt Yl =il = Vou will fnd
*Jﬁ‘i’) Gré
e e Japed

{: . wi):l— L{—(/.-j)(-*”s]) - e
26 ~ 66 M -

2():3)
""(:"-‘-/Z(—:i—é—w qué 5 s




sf;
8; ’ﬂ S(V,{Z *%j%t

g ~0 =0+ 43.8) (s55) oo

'ﬂf - LlLg m = I/lelﬁ/?% 0‘£ c/,‘ﬁ[,

L}é] At {'ge mﬁ'GW'IL {7.1{[@(3@&0;@ TQQ P&C jej’r'% MM—S"}
have fﬁﬂ SaMﬂ'xL')‘gp’wafd S’ﬂf’ed as Ao hgf,‘@p{ef‘.

Thet 15 11 o NOT stzit Moving dowin

,*mmedm%dfj o fia releade . s
A4 AE0 Hhe $stem leaks U,T ; %
like in the @@Ww, N e
Ui = S'Lf'”lg)qF G Af,jjv{’ ’
o F 10S m. Nok affer ‘
d@ﬂQmj % PﬁC/ai—je 'S _A‘(S*_""
n free fall- )
y,-y; U b5 |
O~ 105 55-9—&" q’-qu’k
g5t~ 54 E—105 7 < |
Se el Sl S ) - B4
2(2+965) 45

L =225 (Urwﬂ f[%ﬁ?’l/‘é &MM)-



